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ü®�þ¤ ��Üä ùbÀØÈ÷�¢a89/10/28 :ö�½µõ� ¾þ¤�� ü¨À�úõ ü®�þ¤ �ø¢ Ç¿� ¥� üþ�ú÷ ö�½µõ�´ä�¨ 2/5 :ö�½µõ� �Àa õ ---------------------22− 035---------------------89-90 ñøa� ñ�ÆÞ�÷�b Î��® �� (−π, π] ýø¤ �î Àª�� 2π �ø��� ùb¤ø¢ �� �ø��µõ üã��� f : R −→ R À��î­Âê .1 ñ��b ¨ýÂ¨ ¤�ÀÖõ �þ¤�ê �b �Ìì ¥� ù¢�Ôµ¨� �� Å³¨ ø Àþ¤ø� ´¨¢�� �¤ f �b þ¤�ê ýÂ¨ .´¨� ùÀª ù¢�¢ f(x) = ex
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n2 + 1 .À��î �±¨�½õ �¤�b þ¤�ê ñ�ÂÚµ÷� .´¨� ùÀª ù¢�¢ f(x) = e−x cosx �bÎ��® �� f : [0,∞) −→ R â��� À��î ­Âê .2 ñ��b¨ñ�ÂÚµ÷� ¤�ÀÖõ �þ¤�ê ñ�ÂÚµ÷� �b �Ìì ¥� ù¢�Ôµ¨� �� Å³¨ ø Àþ¤ø� ´¨¢�� �¤ f ü¨���Æî
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x2 + 2
x4 + 4 cos2πx dx .À��î �±¨�½õ �¤�bÎ��® �� f â��� Å³¨ ø Àþ¤ø� ´¨¢�� �¤ Âþ¥ Ûþø��ó -�¤�µª� �b ó�bÆõ ùbÄþø â���� ø ùÄþø Âþ¢�Öõ .3 ñ��b¨.À�û¢ ÍÆ� �ó�bÆõ ùbÄþø â���� °Æ� Â� �¤ f(x) = 1
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X ′′ + λX = 0 : 0 < x < 1
X(0) = 0
X(1) + X ′(1) = 0.Àþ¤ø� ´¨¢�� �¤ Âþ¥ �b ó�bÆõ ý
 ¤�¬ ���� .4 ñ��b¨
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ut = uxx : 0 < x < 1, t > 0
u(x,0) = 1
u(0, t) = 0
u(1, t) + ux(1, t) = 0.Àþ¤ø� ´¨¢�� �¤ Âþ¥ �b ó�bÆõ ý
 ¤�¬ ���� .5 ñ��b¨
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uxx + uyy = 0 : 0 < x < π, y > 0
u(x,0) = π4
u(0, y) = 0
u(π, y) = 0
lim

y→∞

u(x, y) < ∞ .¢¤�¢ ùÂÞ÷ 20 ñ��b¨ Âû .ùÂÞ÷ âþ¥��ùÂÞ÷ 100 :á�Þ¹õ


